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Systems with Linear and Quadratics :)

Systems of Equations 
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Solve each system of equations.

1)  5x2 + 3y2 + x - 81y + 108 = 0
x + y + 1 = 0

2)  -y2 + 2x - 7y + 6 = 0
x - 3y + 3 = 0

3)  -5x2 + y2 - 3x - 130y - 21 = 0
x - 2y + 3 = 0

4)  x2 + y2 + 11x + 2y + 20 = 0
x - 2y - 4 = 0

5)  x2 + y2 - 29 = 0
x - y = 3

6)  x2 - 3y2 - 78x - 2y - 152 = 0
3x - y = 4

7)  2x2 + 2y2 + 11x - 6y - 11 = 0
x - 2y = -3

8)  -2x2 + 41x - 2y - 196 = 0
x - 2y + 4 = 0

9)  3y2 - 3x + 3y - 6 = 0
x - 3y + 3 = 0

10)  12x2 + 4y2 + 29x - 2y + 11 = 0
x - 2y - 1 = 0

11)  -6y2 - 2x - 6y - 8 = 0
x + 3y = 4

12)  x2 + 2y2 - 27x + y + 5 = 0
x - y = 2

13)  2y2 - 5x + 3y - 2 = 0
x + y = 2

14)  6x2 + y2 - 3x - 4 = 0
2x + y + 3 = 0

15)  4x2 - 3y2 - 50x + 3y - 26 = 0
-2x + y + 1 = 0

16)  x2 + 4y2 - 4x + 44y + 51 = 0
x + 2y = -3

17)  6x2 + 2y2 + 60x - y + 53 = 0
2x + y = 1

18)  x2 + y2 + 3x - 7y + 8 = 0
x + y = 0
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19)  3y2 - x + 31y + 86 = 0
x + 2y = 4

20)  x2 + y2 - 14y = 0
x - y = 0

State if the point given is a solution to the system of equations.

21)  x2 + 10x + 25y + 150 = 0
-x2 + 8y2 - 10x + 63y + 90 = 0
Point: (-5, 5)

22)  x2 + y2 - 10x - 4y + 11 = 0
x2 + 6y2 - 10x - 24y - 14 = 0
Point: (-1, 8)

23)  -y2 - 4x - 4y - 4 = 0
2x + y + 2 = 0
Point: (0, -1)

24)  x2 - y2 - 2x + 6y - 12 = 0
12x2 - y2 - 68x + 6y + 87 = 0
Point: (3, 3)

25)  -5x2 + 6y2 + 3x + 54y + 8 = 0
x + 2y = 1
Point: (-1, -1)

26)  x2 + y2 - 10x + 12y - 64 = 0
x2 - 29y2 - 10x - 42y - 100 = 0
Point: (10, 3)

Solve each system of equations.

27)  2x2 - 14x + y + 26 = 0
8x2 - 56x + y + 86 = 0

28)  -x2 + 2y2 - 4x + 6y - 144 = 0
-x2 + 2y2 - 4x + 17y - 34 = 0

29)  x2 + y2 - 7x - 4y - 14 = 0
x2 + y2 - 14x - 4y + 49 = 0

30)  x2 + y2 + 14x - 9y + 63 = 0
-x2 + 8y2 - 14x - 72y + 99 = 0

31)  13x2 - 130x - 16y + 160 = 0
13x2 + 12y2 - 130x - 100y - 200 = 0

32)  x2 + 16x + y + 66 = 0
-x2 + 14y2 - 16x + 125y + 186 = 0

33)  -2x2 + y2 + 8x - 2y - 14 = 0
-8x2 + y2 + 56x - 2y - 104 = 0

34)  8x2 - 16x + 49y - 90 = 0
-8x2 + 18y2 + 16x + 23y - 126 = 0



©U C2T0^1e5B ZKguvt[az wSJoYf]tdwZaGrPeT hLULmCI.K q uA`lult SrGiEgCh_tFsZ WrweQszeOrFv_eOdm.r W [MMadd]eo hwhictUh^ oINnFf]innoittMeQ HAnl`gCeYb`r]aJ P2^.

Worksheet by Kuta Software LLC

-3-

Answers to Systems of Equations (ID: 1)

1)  (-3, 2), (-8, 7) 2)  (-6, -1), (-3, 0) 3)  (-5, -1), (-9, -3) 4)  (-4, -4)
5)  (-5, -2), (2, 5) 6)  (-4, -8), (-2, -2) 7)  (-1, -2) 8)  (10, 7)
9)  (0, 1) 10)  (-1, -1) 11)  (-4, 0) 12)  (1, 3), (5, 7)
13)  (0, -2) 14)  No solution. 15)  (-2, -5) 16)  (9, -3), (7, -2)
17)  (-1, 1), (-4, 7) 18)  (-4, 4), (-1, 1) 19)  (6, -5), (8, -6) 20)  (7, 7), (0, 0)
21)  No 22)  No 23)  No 24)  Yes
25)  No 26)  No 27)  (5, -6), (2, -6) 28)  (-2, -10)
29)  (9, 2) 30)  (-5, 6), (-9, 6), (-5, 3), (-9, 3)
31)  (10, 10), (0, 10), (8, -3), (2, -3) 32)  (-7, -3), (-9, -3), (-6, -6), (-10, -6)
33)  (3, 4), (3, -2), (5, 6), (5, -4) 34)  (1, 2), (8, -6), (-6, -6)


